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=10+00 TR 478

SCRIPPS ST.

EXIST. CURVE CUR7

PI STA. = 745+05.69

! = 16^ 10’ 08" (LT)

D = 10^ 01’ 23"

R = 571.65’

T = 81.20’

L = 161.32’

E = 5.74’

S.E. RUN = 140’

P.C. STA. = 744+24.49

P.T. STA. = 745+85.81
S 0^ 36’ 37" W

1,421.24’

EXIST. CURVE CUR8

PI STA. = 761+57.71

! = 32^ 13’ 41" (RT)

D = 10^ 59’ 13"

R = 521.49’

T = 150.66’

L = 293.33’

E = 21.33’

S.E. RUN = 140’

P.C. STA. = 760+07.05

P.T. STA. = 763+00.39
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S 32^ 50’ 19" W
314.67’

EXIST. CURVE CUR9

PI STA. = 1294+72.20

! = 33^ 05’ 00" (LT)

D = 10^ 58’ 41"

R = 521.91’

T = 155.01’

L = 301.36’

E = 22.53’

S.E. RUN = 140’

P.C. STA. = 1293+17.19
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